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Model of Resource Reservation in Grid
for Long-distance Education

L1 Jing, HAN Qi-yun
(Dept. of Computer and Modern Education Technology, Chongging Education College, Chongging 400067)

Abstract Mechanism of resource reservation is an important approach for assuring quality of service of long-distance education. The present
reservation mechanism has its limitation. In order to abtain the stable resource and quality of service, this paper proposes a mathematic model which
can determine the resource booking quantity, combining resource reservation with computing economics. In this model, the economic interest and
reputation index of service supplier are taken into account, and the optimization problem of two targets under hypothesis is simplified in reason.
Through numeric calculation and analysis, an optimal point for the advance booking of resource is showed.
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